HEMEENEHNE

S 3 EE
(GM3E4H1H~SM4E3 H31H)

HE&EEN 22 LoES
iR ERNRERG I SEEZA T — L T DM



HEEAER (RHREEANF—LORE)
HIREERTDBURE I REE NS — L X E DM
BRI I 0 2 5 HY BB
1 RIFE HEEFEOMEHM
ANEFMRER CE~AR). BEE (AHM3F4A1HroxM44E3A31H)

A = B 7 i

& &t A& B E=FHAK
4 A 29 4 843 % 96.9% (843 % +870 £)
5H 29 4 853 % 94.9% (853 % +899 &)
6 A 29 4 815 % 93.7% (8154 +870 £)
7H 29 4 817 4 90.9% (817 % +899 £)
8 A 29 4 860 % 95.7% (860 % +899 &)
9A 29 % 855 % 98.3% (855 % +870 %)
10 A 294 872 % 96.9% (8724 +899 %)
11 A 29 % 766 % 88.0% (766 % 870 £)
12 A 29 % 785 % 87.3% (7854 +899 %)
1H 294 851 £ 94.6% (851 % +899 %)
2 H 29 %, 772 % 95.0% (7724 +8124)
3A 29 % 821 % 91.3% (821 4 +899 &)
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